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Pwayh YuwbnbGwnpwlwh hhiGwnpwih Guqugnyl swip 30,095,291 50000 fuwtunnid weluw sk
LOnhwlnip (ubthwywa) uwhwwih GJuqugnt)G swhp* 31,167,070 30,000,000 fuwtuinnd welw sk
U1 LGnhwanip Ywwhwwih b rhuyny Y2ryws wlynhyGph gnidwnGliph Ghol 18.78 12.00 fuwfunnud welw sk
Gwquant)l hwpwpbpwygnipynilp
Uy" Pwllyh pwpdn hpwgdbith whnhyGph b pGnhwbnip wywhyGtph gnudwpltiph 29.06 15.00 fuwfunnud welw sk
uhol Gwquant)b hwpwpbpwygnipnilp
U, Pwalh pwndp hpwgdbih whnhdGiph L gywhwie wwpuwynpnipyniGhbph 354.52 60.00 fuwtunnid wnlw sk
uhol Gwquantjb hwpwpbpwygnipnilp
Us' Ukl tinfuwnnth qény nhuljh wowybjwgnyG swihp 10.85 20.00 fuwtunnid welw gk
Ua? unnp thnfuwnniGlph ény nhulyh wnwybjwgnyyG swip 43.98 500.00 fuwtunnid welw gk
U," Pwllh htwn Ywudws ok whdh gény phubh wnwybiwgnyt swihp 3.18 5.00 fuwfunnud welw sk
U4 Pwlh htin Guiyyws pninp whdwlg qény nhulh wowdbiwgnyG swihp 14.41 20.00 fuwfuinnid wnyu sk
Swjwunwbh Jwbpwwbnnipjwl YEGunpnGwlwb pwGyntd nbnwpwudwé 2225L18 fuwhunnud welw gk
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